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Form A

Question 1: (20 points)

Choose the correct answer, write your answer in the table below:

1. The Slope of the line x=12 is:

a) 12 b) -12 c) 0 d) Undefined

2. The domain of the function f(x)=5x"—x+3 is:
a) {x| x is areal number and x # 5 ,3}
b) [-16]
¢) {x] x is areal number and x > é}

d) All real numbers.

3. The interval notation for the set {x|8<2x <20} is:

a) [4,10) b) [8,20) c) [6,18) d) (4,10]

4. One of the following numbers is an integer.

a) 2.7 b) V2 c) =5 d)

5. The opposite of —% is:

3 3 5 5
) = ) = d -=
) 5 ® 3 ) 3 ) 3
6. One of the following is a difference of squares:
a) x*+100 b) 16x? —25 c) 4x-81 d) x*+6x+9

(Mx =5 ) (4x+5)
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£ _1\/ \7/ ‘ ~3
& A=K+ ) (g () = X°
7. LCM(x* -1, x+1)= Bl A :»4.-‘,} = VAU ARH = =i
'-N‘Z -‘u ‘[\" < \ ,!\’.. ‘ }
@ « -1 b) x+1 ¢) (x=D)x+1)’ d) x-1

8. Ifasystem of two equations in two variables has one solution or no solutions, then the

equations are............

a) Inconsistent b) Consistent (&) Independent d) Dependent

9. One of the following relations defines a function :
a) {(=6,4),(-5.4),(-4.4),(-4.3)}
b) {(1,2).(4,4).3.6).G.3)
o) {(0,0),(L1,(2,2).(0,9)}

@ {(_19 3)1(0, 3)-(31 3)9 (4»3)}

U

10. The x - intercept for the equation 5x-10y=20is: ~=

N
i}

@ 4,0) b) (0,-2) ¢) (15,0) d) (0,30)
. , wx1=5 - k=6 ,-{x=)=3 L-%X-iz
11. The solution set for the equation |x—1|=5 is: — y q
a) {-5,5} b [4.6] © {-4.6} d) [-5.5]
r——
3 0
12. The value of (5) is:
3 5
a) 0 @;_l c) 3 d) 3
13. Let f(x)=5x*~1 and g(x)=x+3, then f(g(0)= ?‘5{* ¥3)4.) | = 5(3)°-] =5} -1
o o I utu‘
d) 3 —

@ 44 b) 2 c) 29

i) s g Us @y 3 g
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14. Parallel lines have the same ...........

a) x—intercept b) y—intercept (©) Slope d) None
15. The translation of “some number increased by five ™ is

a) Sx ® x+5 c) x-5 d) x=5

16. The equation of a horizontal line containing the point (2 ,-5) is:
a) x=2 b) x=-3 c) y=2x-5 d) y=-5
17. 120 is 40% of what number ?
a) 48 (b) 300 c) 250 d) 70
18. The result of —r—iix—_ﬁ is:
2x

a) 16x* +8x* —4x? b) 6x*+2x-1 c) 4x +2x (d) 4x° +2x-1
19. [2,5)N(3,7]=
@ (3.5) b [27] o [2.3) d) (5.7]

20. The decimal notation for the number 2.35x107 is

235000 0.

2) b) 00000235 o) 3;9000233 d) 2350000
Question| 1 2 3 4 5 6 7 8 9 10
Answer d d a C h b a C d a
Question| 11 12 13 14 15 16 17 18 19 20
Answer C b 0. C b b d a C

O e o (5 Ly L=
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Question 2: (12 points)

Solve the following equations:
L pe-t=x 2 3X-F] -X =0 ‘
‘ = ]
2% 3X-F-X=0o 2X=F X _f;_
« o
F R\ \ ' 2\ e s 7_. s y e
& -(3x-F) -X=0 X+ F. X=o -~ MK = .7
[ X . ”,/'
] o L, \:(l
P f = L. =
=5
| W
\2 :_‘T \

-~ X.L‘::O ',‘\r:_!
’ \(':‘5z5<?.:"'4'
3 .t+l=x+3
x-2 x-5

o€ i
. .BX4X-5 =-2X+3X -6

_Yx-5=X- ]

“ehe ot “6 oo Z lC" ) 9 L“',Qlf‘qfd_’_:‘,’bﬂl
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w(ﬁpoints)
Solve the following inequalities, write the solution set in interval notation:
‘3x-—1|>8
~, 2 - =2
b '\\ \ ? vvvvv —.‘\.\X :'(f . X?; XC(.)/GJ)
& -(3%x-) >3 33X+ 73 A>T
& f"::t:z . X(:(-oo,iz)

“XE (o 2)U(3,0)
2. 2(5x=D+4x<6x-10
\\""r" ‘{ \“:. \,\l \‘ qs)
UX -2 < 8% -lo
MY -4 "\ ~lo+2
3 X g -3
: é
S "}FL”
Question 4: (4 points) r'y
Graph f(x)=|x—1|
a= x-l=o o X=t (1,) 2
= Pot X=0 e
. {- I \ <+ 1 ,,P >
.-('l’):_z‘ P 0, | s 23 G
> (o, 1) : Fd
T8
-
Y
‘p;@!J“gLJQ@LMAdbd?H&
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Question 5: (8 points)

1. Write an equation of a Line containing the points (1,3) and (2,5)

x> ﬁﬂﬁpf > J;;ﬁL.: il = 9

3= ~~:> d C
\' \3.\: l\\ !

T e

2. Solve this system .

x+y=5 X+ ‘7-" - 5
x=2y=-1 =) D

e l i - - ‘—<
J_’ ‘,lcfa 7\_\'3- C 10,9 L'C{C”L[*\_” ‘k\\
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